BID NO.: 2021-12 City of Farmers Branch **Bid Tabulation** Bid Opens: 6/3/2021, 2:00p.m. Sheet 1A of 3A Farmers Branch Creek Erosion Repair: Reach 3 Stoic-Civil Construction, Inc. JB&Co. LLC Knights Erosion Control, Inc. Ark Contracting Service, LLC Unit Bid Qtv Unit Price Description Unit Price **Unit Price** Total Unit Price Total Total Total Farmers Branch Creek Erosion Repair E-17 (Manhole/South Bank) MOBILIZATION AND TEMPORARY CONSTRUCTION ACCESS, PER PLANS & LS \$11,000.00 \$11,000.00 \$5,000.00 \$5,000.00 \$5,845.00 \$5,845.00 \$47,500.00 \$47,500.00 SPECIFICATION 2 CLEARING AND GRUBBING, PER PLANS & SPECIFICATIONS LS \$1,000.00 \$1,000.0 \$3,300,00 \$6.697.00 \$6,697.0 \$10.250.00 \$10,250.00 1 \$3,300,0 RESTORE PRECONSTRUCTION SITE CONDITIONS WHICH INCLUDE REPAIR OF LS 3 \$4,000.00 \$4,000.00 \$1,500.00 \$1,500.00 \$2,500.00 \$2,500.00 \$8,775.00 \$8,775.00 SPRIKLER SYSTEMS, IF ANY, PER PLANS & SPECIFICATIONS EROSION CONTROL MEASURES, INCLUDING SILT FENCE AND CONSTRUCTION \$3,303.00 4 LS 5.500.00 \$5,500.00 300.00 \$300.00 3.303.00 11.200.00 \$11,200.00 ENTRANCE PER PLANS AND SPECIFICATIONS 5 TREE PROTECTION, PER PLANS & SPECIFICATIONS EΑ 4 400.00 \$1,600.0 100.00 \$400.0 60.00 \$240.00 975.00 \$3,900.00 CARE OF WATER DURING CONSTRUCTION, WHICH INCLUDES ALL THE WORK. EQUIPMENT AND MATERIALS NECESSARY FOR HANDLING AND DIVERTING ANY FLOOD FLOWS, STREAM FLOWS, OR ANY OTHER WATER, INCLUDING LS 12,500.00 \$12,500.00 2,000.00 \$2,000.00 2,500.30 \$2,500.30 20,905.00 \$20,905.00 GROUNDWATER ENCOUNTERED DURING THE PROGRESS OF THE WORK PER THE SPECIFICATION, CONSTRUCT GABION WALL AND ALL SUBSIDIARY ITEMS INCLUDING EXCAVATION. SELECT FILL, CRUSHED STONE, COMPACTED CLAY CAP PER PLANS AND CY 29 510.00 \$14,790.00 450.00 \$13.050.00 495.00 \$14.355.00 426.00 \$12.354.00 SPECIFICATIONS CONSTRUCT CONCRETE BEAM INCLUDING CONCRETE, GROUT AND ALL \$4,300.00 8 CY 860.00 840.00 \$4,200.00 994 40 \$4,972.45 1,200.00 \$6,000.00 5 ASSOCIATED REBARS AND TIES PER PLANS TIEBACKS (UN-BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, 9 LF 18 56.00 \$1,008.00 75.00 \$1,350.00 218.30 \$3,929.40 98.00 \$1,764.00 CASING AND SAWCUTTING BEARING STRATUM TIEBACKS (BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, 10 LF 34 56.00 75.00 201.78 \$6.860.52 89.00 \$3,026,00 \$1,904.00 \$2,550.00 CASING AND SAWCUTTING BEARING STRATUM CONSTRUCT GABION MATTRESS INCLUDING GABION WIRE BASKETS, ALL 11 SY **4**0 100.00 \$4,000.00 110.00 \$4,400.00 225 00 \$9,000.00 77 00 \$3,080.00 ASSOCIATED TIES, FASTENERS AND WIRES, ROCK INFILL, PER PLANS \$61.602.00 \$38.050.00 \$60,202,67 \$128,754,00 Sub-Total Base Bid F B Creek Erosion Repair E-17: Farmers Branch Creek Erosion Repair E-18 **Bid Qtv** Unit **Unit Price** Total **Unit Price** Total **Unit Price** Total **Unit Price** Total MOBILIZATION AND TEMPORARY CONSTRUCTION ACCESS, PER PLANS & LS \$13,000.00 \$13,000.00 \$7,500.00 \$7,500.00 \$5,845.00 \$5,845.00 \$44,000.00 \$44,000.00 1 SPECIFICATION 2 LS \$1,500.00 1.500.0 \$4,000.00 4.000.00 \$6.697.00 6.697.0 \$10.250.00 10.250.00 CLEARING AND GRUBBING, PER PLANS & SPECIFICATIONS 1 RESTORE PRECONSTRUCTION SITE CONDITIONS WHICH INCLUDE REPAIR OF LS \$5,000.00 5.000.00 \$2,000.00 2.000.00 \$2,500.00 2.500.00 11.100.00 \$11 100 00 SPRIKLER SYSTEMS, IF ANY, PER PLANS & SPECIFICATIONS EROSION CONTROL MEASURES. INCLUDING SILT FENCE AND CONSTRUCTION LS 1 \$4,500.00 4,500.00 \$4,000,00 4,000.00 \$3,303,00 3,303.00 \$11 250 00 11,250.00 ENTRANCE PER PLANS AND SPECIFICATIONS TREE PROTECTION, PER PLANS & SPECIFICATIONS EΑ 4 \$400.00 1,600.00 \$100.00 400.00 \$60.00 240.00 \$975.00 3,900.00 CARE OF WATER DURING CONSTRUCTION, WHICH INCLUDES ALL THE WORK, EQUIPMENT AND MATERIALS NECESSARY FOR HANDLING AND DIVERTING ANY FLOOD FLOWS, STREAM FLOWS, OR ANY OTHER WATER, INCLUDING LS 21.000.00 \$3,000.00 3.000.00 \$28.650.00 28.650.00 \$21,000,00 \$2,500,00 2 500 00 1 GROUNDWATER ENCOUNTERED DURING THE PROGRESS OF THE WORK PER THE SPECIFICATION. CONSTRUCT GABION WALL AND ALL SUBSIDIARY ITEMS INCLUDING EXCAVATION, SELECT FILL, CRUSHED STONE, COMPACTED CLAY CAP PER PLANS AND CY 112 \$460.00 51,520.00 \$450.00 50,400.00 \$495.85 55,535.20 \$405.00 45,360.00 SPECIFICATIONS CONSTRUCT CONCRETE BEAM INCLUDING CONCRETE, GROUT AND ALL CY \$835.00 20.040.00 \$850.00 20.400.00 \$994 49 23.867.76 \$882.00 21.168.00 24 ASSOCIATED REBARS AND TIES PER PLANS TIEBACKS (UNBONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, 9 11,992.50 LF 22,980.50 205 \$58.50 \$75.00 15,375.00 \$112.10 \$47.00 9,635.00 CASING AND SAWCUTTING BEARING STRATUM TIEBACKS (BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, 10 LF \$58.50 20,592.00 \$75.00 26,400.00 28,659.84 \$44.00 15,488.00 352 \$81.42 CASING AND SAWCUTTING BEARING STRATUM CONSTRUCT GABION MATTRESS INCLUDING GABION WIRE BASKETS, ALL

\$148.625.00

\$12,650.00

\$2,500.00

\$225.00

\$1,323.04

\$25,875.00

\$1,323.04

\$179.326.34

\$77.00

\$4,641.00

\$8,855.00

\$4,641.0

\$214,297.00

\$10,350.00

\$4,500.00

\$165.594.50

\$110.00

\$2,500.00

\$90.00

\$4,500.00

SY

LS

ASSOCIATED TIES, FASTENERS AND WIRES, ROCK INFILL, PER PLANS
REMOVE AND DISPOSE RIP-RAP, CONCRETE, AND DEBRIS PER PLANS

Sub-Total Base Bid F B Creek Erosion Repair E-18:

115

1

^{*1} Submitted bid is 0.30 Cents higher due to bidder's math error

Bid Opens: 6/3/2021, 2:00p.m. Sheet 2A of 3A

Farmers Branch Creek Erosion Repair: Reach 3				Stoic-Civil Construction, Inc.		JB&Co, LLC		Knights Erosion Control. Inc		Ark Contracting Service, LLC	
Item	Unit Price	Unit	Bid Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Fai	rmers Branch Creek Erosion Repair - 12330 Veronica Rd										
1	MOBILIZATION AND TEMPORARY CONSTRUCTION ACCESS, PER PLANS & SPECIFICATION	LS	1	\$17,000.00	\$17,000.00	\$15,000.00	\$15,000.00	\$5,845.00	\$5,845.00	\$41,800.00	\$41,800.00
2	CLEARING AND GRUBBING, PER PLANS & SPECIFICATIONS	LS	1	\$1,500.00	1,500.00	\$2,500.00	2,500.00	\$6,697.00	6,697.00	\$38,300.00	38,300.00
3	RESTORE PRECONSTRUCTION SITE CONDITIONS WHICH INCLUDE REPAIR OF SPRIKLER SYSTEMS, IF ANY, PER PLANS & SPECIFICATIONS	LS	1	\$7,000.00	7,000.00	\$3,500.00	3,500.00	\$2,500.00	2,500.00	\$20,900.00	20,900.00
4	EROSION CONTROL MEASURES, INCLUDING SILT FENCE AND CONSTRUCTION ENTRANCE PER PLANS AND SPECIFICATIONS	LS	1	\$5,000.00	5,000.00	\$7,000.00	7,000.00	\$3,303.00	3,303.00	\$11,250.00	11,250.00
5	TREE PROTECTION, PER PLANS & SPECIFICATIONS	EA	4	\$400.00	1,600.00	\$100.00	400.00	\$60.00	240.00	\$975.00	3,900.00
6	CARE OF WATER DURING CONSTRUCTION, WHICH INCLUDES ALL THE WORK, EQUIPMENT AND MATERIALS NECESSARY FOR HANDLING AND DIVERTING ANY FLOOD FLOWS, STREAM FLOWS, OR ANY OTHER WATER, INCLUDING GROUNDWATER ENCOUNTERED DURING THE PROGRESS OF THE WORK PER THE SPECIFICATION,	LS	1	\$18,000.00	18,000.00	\$4,000.00	4,000.00	\$2,500.00	2,500.00	\$28,650.00	28,650.00
7	CONSTRUCT GABION WALL AND ALL SUBSIDIARY ITEMS INCLUDING EXCAVATION, SELECT FILL, CRUSHED STONE, COMPACTED CLAY CAP PER PLANS AND SPECIFICATIONS	CY	169	\$460.00	77,740.00	\$450.00	76,050.00	\$495.85	83,798.65	\$407.00	68,783.00
8	CONSTRUCT CONCRETE BEAM INCLUDING CONCRETE, GROUT AND ALL ASSOCIATED REBARS AND TIES PER PLANS	CY	36	\$825.00	\$29,700.00	\$850.00	\$30,600.00	\$994.49	\$35,801.64	\$805.00	\$28,980.00
9	TIEBACKS (UN-BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, CASING AND SAWCUTTING BEARING STRATUM	LF	268	\$51.00	\$13,668.00	\$75.00	\$20,100.00	\$92.04	\$24,666.72	\$70.00	\$18,760.00
10	TIEBACKS (BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, CASING AND SAWCUTTING BEARING STRATUM	LF	496	\$51.00	\$25,296.00	\$75.00	\$37,200.00	\$81.42	\$40,384.32	\$67.00	\$33,232.00
11	CONSTRUCT GABION MATTRESS INCLUDING GABION WIRE BASKETS, ALL ASSOCIATED TIES, FASTENERS AND WIRES, ROCK INFILL, PER PLANS	SY	120	\$90.00	\$10,800.00	\$110.00	\$13,200.00	\$225.00	\$27,000.00	\$89.00	\$10,680.00
12	REMOVE AND DISPOSE RIP-RAP, CONCRETE, AND DEBRIS PER PLANS	LS	1	\$4,500.00	\$4,500.00	\$2,500.00	\$2,500.00	\$1,323.04	\$1,323.04	\$5,993.00	\$5,993.00
	Sub-Total Base Bid (12330 Veronica Road):		\$211,804.00		\$212,050.00	*2	\$234,059.37		\$311,228.00		

^{*2} Submitted bid is 0.30 Cents higher due to bidder's math error

Bid Opens: 6/3/2021, 2:00p.m. Sheet 3A of 3A

Farmers Branch Creek Erosion Repair: Reach 3			Stoic-Civil Construction, Inc.		JB&Co, LLC		Knights Erosion Control. Inc		Ark Contracting Service, LLC		
Item	Unit Price	Unit	Bid Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Farmers Branch Creek Erosion Repair - E-19										
1	MOBILIZATION AND TEMPORARY CONSTRUCTION ACCESS, PER PLANS & SPECIFICATION	LS	1	\$17,016.50	\$17,016.50	\$10,000.00	\$10,000.00	\$5,845.00	\$5,845.00	\$35,750.00	\$35,750.00
2	CLEARING AND GRUBBING, PER PLANS & SPECIFICATIONS	LS	1	\$1,500.00	\$1,500.00	\$2,200.00	\$2,200.00	\$6,697.00	\$6,697.00	\$34,800.00	\$34,800.00
3	RESTORE PRECONSTRUCTION SITE CONDITIONS WHICH INCLUDING TOP SOIL, GRASS-SOD (LIKE KIND), REPAIR OF SPRIKLER SYSTEMS, IF ANY, PER PLANS & SPECIFICATIONS	LS	1	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$7,800.00	\$7,800.00
4	EROSION CONTROL MEASURES, INCLUDING SILT FENCE AND CONSTRUCTION ENTRANCE PER PLANS AND SPECIFICATIONS	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,303.00	\$3,303.00	\$11,300.00	\$11,300.00
5	TREE PROTECTION, PER PLANS & SPECIFICATIONS	EA	1	\$400.00	\$400.00	\$100.00	\$100.00	\$60.00	\$60.00	\$1,020.00	\$1,020.00
6	CARE OF WATER DURING CONSTRUCTION, WHICH INCLUDES ALL THE WORK, EQUIPMENT AND MATERIALS NECESSARY FOR HANDLING AND DIVERTING ANY FLOOD FLOWS, STREAM FLOWS, OR ANY OTHER WATER, INCLUDING GROUNDWATER ENCOUNTERED DURING THE PROGRESS OF THE WORK PER THE SPECIFICATION,	LS	1	\$16,000.00	\$16,000.00	\$4,000.00	\$4,000.00	\$2,500.30	\$2,500.30	\$28,650.00	\$28,650.00
7	CONSTRUCT REDI-ROCK BLOCK WALL (LIME STONE FINISH) PER PLANS AND SPECIFICATIONS	SF	1,241	\$91.00	\$112,931.00	\$154.00	\$191,114.00	\$77.62	\$96,326.42	\$84.00	\$104,244.00
8	CONSTRUCT CONCRETE BEAM INCLUDING CONCRETE, GROUT AND ALL ASSOCIATED REBARS AND TIES PER PLANS	CY	43	\$1,165.00	\$50,095.00	\$850.00	\$36,550.00	\$994.49	\$42,763.07	\$1,194.00	\$51,342.00
9	DRILLED CONCRETE PIERS, INCLUDING REBAR (18-INCH DIA), POER PLANS AND SPECIFICATIONS	LF	75	\$195.00	\$14,625.00	\$154.00	\$11,550.00	\$387.04	\$29,028.00	\$280.80	\$21,060.00
10	CONSTRUCT GABION MATTRESS INCLUDING GABION WIRE BASKETS, ALL ASSOCIATED TIES, FASTENERS AND WIRES, ROCK INFILL, PER PLANS	SY	46	\$42.00	\$1,932.00	\$110.00	\$5,060.00	\$225.00	\$10,350.00	\$108.00	\$4,968.00
11	REMOVE AND DISPOSE RIP-RAP, CONCRETE, AND DEBRIS PER PLANS	LS	1	\$4,500.00	\$4,500.00	\$2,500.00	\$2,500.00	\$1,323.04	\$1,323.04	\$5,765.50	\$5,765.50
Sub-Total Base Bid F B Creek Erosion Repair E-19:			\$230,999.50		\$273,074.00		\$200,695.83		\$306,699.50		
1	UNFORSEEN ITEMS, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48)	LS	1	\$80,000.00	\$80,000.00		\$80,000.00		\$80,000.00		\$80,000.00
	Grand-Total Base Bid F B Creek Erosion Repair (E-17, E-18,12330 Veronica Rd, E-19, & Unforseen Items):				\$750,000.00		\$751,799.00		\$754,284.21		1,040,978.50

Bid Opens: 6/3/2021, 2:00p.m. Sheet 1B of 3B Humphrey & Morton Farmers Branch Creek Erosion Repair: Reach 3 **HQS Construction, LLC** Construction Co., Inc Item Unit Bid Qtv **Unit Price** Unit Price Farmers Branch Creek Erosion Repair E-17 (Manhole/South Bank) MOBILIZATION AND TEMPORARY CONSTRUCTION ACCESS, PER PLANS & LS \$17,500.00 \$17,500.00 \$60,863.00 \$60.863.00 SPECIFICATION \$7,500.00 \$14,017.00 CLEARING AND GRUBBING, PER PLANS & SPECIFICATIONS LS \$7,500.00 \$14,017.00 RESTORE PRECONSTRUCTION SITE CONDITIONS WHICH INCLUDE REPAIR OF LS 1 \$7,500.00 \$7,500.00 \$3,505.00 \$3,505.00 SPRIKLER SYSTEMS, IF ANY, PER PLANS & SPECIFICATIONS EROSION CONTROL MEASURES, INCLUDING SILT FENCE AND CONSTRUCTION \$1,826.00 LS 5,000.00 \$5,000.00 1,826.00 ENTRANCE PER PLANS AND SPECIFICATIONS TREE PROTECTION, PER PLANS & SPECIFICATIONS EΑ 4 150.00 \$600.0 324.00 \$1,296.0 CARE OF WATER DURING CONSTRUCTION, WHICH INCLUDES ALL THE WORK. EQUIPMENT AND MATERIALS NECESSARY FOR HANDLING AND DIVERTING ANY FLOOD FLOWS, STREAM FLOWS, OR ANY OTHER WATER, INCLUDING LS 10,000.00 \$10,000.00 13,580.00 \$13,580.00 GROUNDWATER ENCOUNTERED DURING THE PROGRESS OF THE WORK PER THE CONSTRUCT GABION WALL AND ALL SUBSIDIARY ITEMS INCLUDING EXCAVATION. SELECT FILL, CRUSHED STONE, COMPACTED CLAY CAP PER PLANS AND CY 29 600.00 \$17,400,00 537.00 \$15,573.00 SPECIFICATIONS CONSTRUCT CONCRETE BEAM INCLUDING CONCRETE, GROUT AND ALL CY 1,000.00 \$5,000.00 1,681.00 \$8,405.00 5 ASSOCIATED REBARS AND TIES PER PLANS TIEBACKS (UN-BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, LF 18 200.00 \$3,600.00 435.00 \$7,830.00 CASING AND SAWCUTTING BEARING STRATUM TIEBACKS (BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, LF 250.00 \$8,500.00 435.00 \$14,790.00 34 CASING AND SAWCUTTING BEARING STRATUM CONSTRUCT GABION MATTRESS INCLUDING GABION WIRE BASKETS, ALL SY 200.00 303.00 \$12,120.00 40 \$8,000.00 ASSOCIATED TIES, FASTENERS AND WIRES, ROCK INFILL, PER PLANS Sub-Total Base Bid F B Creek Erosion Repair E-17: \$90,600.00 \$153,805.00 Unit **Bid Qtv** Unit Price Total **Unit Price** Farmers Branch Creek Erosion Repair E-18 Total MOBILIZATION AND TEMPORARY CONSTRUCTION ACCESS, PER PLANS & LS \$27,000.00 \$27,000.00 \$97,498.00 \$97,498,00 SPECIFICATION CLEARING AND GRUBBING, PER PLANS & SPECIFICATIONS LS \$7,500,00 7.500.00 \$7.929.00 7.929.00 1 RESTORE PRECONSTRUCTION SITE CONDITIONS WHICH INCLUDE REPAIR OF 3 LS \$7,500.00 7.500.00 \$3,505.0 3 505 00 1 SPRIKLER SYSTEMS, IF ANY, PER PLANS & SPECIFICATIONS EROSION CONTROL MEASURES.INCLUDING SILT FENCE AND CONSTRUCTION LS \$5,000,00 5.000.00 \$6.891.0 6.891.00 ENTRANCE PER PLANS AND SPECIFICATIONS TREE PROTECTION, PER PLANS & SPECIFICATIONS EΑ 4 \$150.00 600.00 \$324.00 1,296.00 CARE OF WATER DURING CONSTRUCTION, WHICH INCLUDES ALL THE WORK, EQUIPMENT AND MATERIALS NECESSARY FOR HANDLING AND DIVERTING ANY FLOOD FLOWS, STREAM FLOWS, OR ANY OTHER WATER, INCLUDING LS \$10,000.00 10,000.00 \$18,106.00 18.106.00 GROUNDWATER ENCOUNTERED DURING THE PROGRESS OF THE WORK PER THE CONSTRUCT GABION WALL AND ALL SUBSIDIARY ITEMS INCLUDING EXCAVATION. CY SELECT FILL, CRUSHED STONE, COMPACTED CLAY CAP PER PLANS AND 112 \$600.00 67.200.00 \$537.00 60.144.00 SPECIFICATIONS CONSTRUCT CONCRETE BEAM INCLUDING CONCRETE, GROUT AND ALL CY \$1,000,00 \$1.681.00 24 24,000.00 40,344.00 ASSOCIATED REBARS AND TIES PER PLANS TIEBACKS (UNBONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, LF 205 \$200.00 41,000.00 \$435.00 89,175.00 CASING AND SAWCUTTING BEARING STRATUM TIEBACKS (BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, LF 352 \$250.00 88,000.00 \$435.00 153,120.00 CASING AND SAWCUTTING BEARING STRATUM CONSTRUCT GABION MATTRESS INCLUDING GABION WIRE BASKETS, ALL \$200.00 \$302.00 \$34,730.00 SY 115 \$23,000.00 ASSOCIATED TIES, FASTENERS AND WIRES, ROCK INFILL, PER PLANS REMOVE AND DISPOSE RIP-RAP, CONCRETE, AND DEBRIS PER PLANS \$15,000.00 \$7,929.00 \$7,929.00 LS 1 \$15,000.00 Sub-Total Base Bid F B Creek Erosion Repair E-18: \$315.800.00 \$520.667.00

Bid Opens: 6/3/2021, 2:00p.m.

	Farmers Branch Creek Erosion Repair: Reach 3						Humphrey & Morton Construction Co., Inc			
Item		Unit	Bid Qty	Unit Price	Total	Unit Price	Total			
Fai	mers Branch Creek Erosion Repair - 12330 Veronica Rd									
1	MOBILIZATION AND TEMPORARY CONSTRUCTION ACCESS, PER PLANS & SPECIFICATION	LS	1	\$30,000.00	\$30,000.00	\$66,706.00	\$66,706.00			
2	CLEARING AND GRUBBING, PER PLANS & SPECIFICATIONS	LS	1	\$7,500.00	7,500.00	\$7,929.00	7,929.00			
3	RESTORE PRECONSTRUCTION SITE CONDITIONS WHICH INCLUDE REPAIR OF SPRIKLER SYSTEMS, IF ANY, PER PLANS & SPECIFICATIONS	LS	1	\$7,500.00	7,500.00	\$3,505.00	3,505.00			
4	EROSION CONTROL MEASURES,INCLUDING SILT FENCE AND CONSTRUCTION ENTRANCE PER PLANS AND SPECIFICATIONS	LS	1	\$5,000.00	5,000.00	\$7,271.00	7,271.00			
5	TREE PROTECTION, PER PLANS & SPECIFICATIONS	EA	4	\$150.00	600.00	\$324.00	1,296.00			
6	CARE OF WATER DURING CONSTRUCTION, WHICH INCLUDES ALL THE WORK, EQUIPMENT AND MATERIALS NECESSARY FOR HANDLING AND DIVERTING ANY FLOOD FLOWS, STREAM FLOWS, OR ANY OTHER WATER, INCLUDING GROUNDWATER ENCOUNTERED DURING THE PROGRESS OF THE WORK PER THE SPECIFICATION,	LS	1	\$10,000.00	10,000.00	\$18,106.00	18,106.00			
7	CONSTRUCT GABION WALL AND ALL SUBSIDIARY ITEMS INCLUDING EXCAVATION, SELECT FILL, CRUSHED STONE, COMPACTED CLAY CAP PER PLANS AND SPECIFICATIONS	CY	169	\$600.00	101,400.00	\$559.00	94,471.00			
8	CONSTRUCT CONCRETE BEAM INCLUDING CONCRETE, GROUT AND ALL ASSOCIATED REBARS AND TIES PER PLANS	CY	36	\$1,000.00	\$36,000.00	\$1,681.00	\$60,516.00			
9	TIEBACKS (UN-BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, CASING AND SAWCUTTING BEARING STRATUM	LF	268	\$200.00	\$53,600.00	\$435.00	\$116,580.00			
10	TIEBACKS (BONDED), INCLUDING STEEL PLATES WITH ANCHOR NUTS, GROUT, CASING AND SAWCUTTING BEARING STRATUM	LF	496	\$250.00	\$124,000.00	\$435.00	\$215,760.00		-	
11	CONSTRUCT GABION MATTRESS INCLUDING GABION WIRE BASKETS, ALL ASSOCIATED TIES, FASTENERS AND WIRES, ROCK INFILL, PER PLANS	SY	120	\$200.00	\$24,000.00	\$303.00	\$36,360.00			
12	REMOVE AND DISPOSE RIP-RAP, CONCRETE, AND DEBRIS PER PLANS	LS	1	\$15,000.00	\$15,000.00	\$7,929.00	\$7,929.00			
	Sub-Total Base Bid (12330 Veronica Road):		\$414,600.00		\$636,429.00					

Bid Opens: 6/3/2021, 2:00p.m.

Farmers Branch Creek Erosion Repair: Reach 3					Humphrey & Morton Construction Co., Inc				
Iten	Unit Price	Unit	Bid Qty	Unit Price	Total	Unit Price	Total		
	Farmers Branch Creek Erosion Repair - E-19								
1	MOBILIZATION AND TEMPORARY CONSTRUCTION ACCESS, PER PLANS & SPECIFICATION	LS	1	\$25,000.00	\$25,000.00	\$66,706.00	\$66,706.00		
2	CLEARING AND GRUBBING, PER PLANS & SPECIFICATIONS	LS	1	\$7,500.00	\$7,500.00	\$15,858.00	\$15,858.00		
3	RESTORE PRECONSTRUCTION SITE CONDITIONS WHICH INCLUDING TOP SOIL, GRASS-SOD (LIKE KIND), REPAIR OF SPRIKLER SYSTEMS, IF ANY, PER PLANS & SPECIFICATIONS	LS	1	\$7,500.00	\$7,500.00	\$17,790.00	\$17,790.00		
4	EROSION CONTROL MEASURES, INCLUDING SILT FENCE AND CONSTRUCTION ENTRANCE PER PLANS AND SPECIFICATIONS	LS	1	\$5,000.00	\$5,000.00	\$7,271.00	\$7,271.00		
5	TREE PROTECTION, PER PLANS & SPECIFICATIONS	EA	1	\$150.00	\$150.00	\$324.00	\$324.00		
6	CARE OF WATER DURING CONSTRUCTION, WHICH INCLUDES ALL THE WORK, EQUIPMENT AND MATERIALS NECESSARY FOR HANDLING AND DIVERTING ANY FLOOD FLOWS, STREAM FLOWS, OR ANY OTHER WATER, INCLUDING GROUNDWATER ENCOUNTERED DURING THE PROGRESS OF THE WORK PER THE SPECIFICATION,	LS	1	\$10,000.00	\$10,000.00	\$27,160.00	\$27,160.00		
7	CONSTRUCT REDI-ROCK BLOCK WALL (LIME STONE FINISH) PER PLANS AND SPECIFICATIONS	SF	1,241	\$110.00	\$136,510.00	\$179.00	\$222,139.00		
8	CONSTRUCT CONCRETE BEAM INCLUDING CONCRETE, GROUT AND ALL ASSOCIATED REBARS AND TIES PER PLANS	CY	43	\$1,000.00	\$43,000.00	\$1,970.00	\$84,710.00		
9	DRILLED CONCRETE PIERS, INCLUDING REBAR (18-INCH DIA), POER PLANS AND SPECIFICATIONS	LF	75	\$140.00	\$10,500.00	\$726.00	\$54,450.00		
10	CONSTRUCT GABION MATTRESS INCLUDING GABION WIRE BASKETS, ALL ASSOCIATED TIES, FASTENERS AND WIRES, ROCK INFILL, PER PLANS	SY	46	\$600.00	\$27,600.00	\$302.00	\$13,892.00		
11	REMOVE AND DISPOSE RIP-RAP, CONCRETE, AND DEBRIS PER PLANS	LS	1	\$15,000.00	\$15,000.00	\$21,946.00	\$21,946.00		
Sub-Total Base Bid F B Creek Erosion Repair E-19:				\$287,760.00		\$532,246.00			
1	UNFORSEEN ITEMS, AS APPROVED BY THE CITY ENGINEER (REFER TO SPECIAL CONDITIONS ITEM #48)	LS	1	\$80,000.00	\$80,000.00		\$80,000.00		
	and-Total Base Bid F B Creek Erosion Repair (E-17, E- ,12330 Veronica Rd, E-19, & Unforseen Items):		\$1,188,760.00		\$1,923,147.00				